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Write the following formulas Y=Y
1. Slope M= wamx
2. Point Slope Form (j = ld = s (= _7(‘)
3. Slope Intercept Form U = mxt D

Write an equation in point-slope form of the linz that sses through @ ~2-4

the given points. WD FIUD SLoPe (2 CHooRE | —1= -\ (x7)
7. (41, (-2.7) 8. (1,3), (-3,0) 0. (25 ()@ 222 = 3= 3

Write a linear function (slope intercept) f with the given values. *,-t: _______tj;g :,f*t-(_x — )
o,

D = (0)* —,fg)—\ 3,19 £(=4) —Sf()c_ & -\‘-5 :{:%:M (LTFt

2=-l(xo Tz
-2=-x+¥0 ‘X y+l= 7—‘3 )

12. To rent ofﬁce space for your business, you must pay a one-tlme fee of — — "-‘;“‘
$1000 and pay rent of $800 per month. N = =" (=.73)
2" _\-t - X 5 . _33 ("74 - 2_;

a. Write a linear model that represents the total cost of renting offi 3 Yyt3=3x _%

as a function of the number of months you will rent. = Bocom T lcoo =3 = -3

] T o= = — AN

b. Find the total cost of_l\rc\sng, s office space for one year. Y~ 80002) * LSen = 3
I'Z,Mb\r\ W A Al olbO

one-time fee, but you must pay rent of $900 per month. If you have $15,000

Carwhich building pa >
office space for the greatest amount of time? Explain. (%
yﬁ BLDG A = 1S, oco = _ \

—l oo

=
% . coot800= 1M.5m SOOO T AAC0 = o3 ™M
13. The table shows the distance covered by a spaceship in outer space. Can the situation be modeled by a
linear equation? Explain. If possible, write e S ( \ S’)
a linear model that represents the distance traveled as a function Y~ 5‘ -:Cx = )
Time (seconds) | 1| 4 | 7 | 10|13 5 3 +s «-b

Distance (miles) | 5| 20 | 35| 50 | 65 @ \\1) = Sx+t0O
o 4\ o

-1-.
Write the slope-intercept form of the equation W|th the given characteristics. _,
peint 4 slope Y-\ XL D) |

4. sl = 2; passes through (=3, I -rn(‘& x 2 . 4+ &

14. slope = £ p gh(=3.1) Y-y, ) Y~ Bt E e
e e —5=0G<-3) )

15. passes through (3, 5) and (-1, 5) S S_O =0

-3 % (3.5) S“Sh 5

o O, TP e oS e e =
16. slope ; x-intercept = 3 é\ope ‘i \n'\‘c\’c GPJ" \LS W\x-t\b @

———

. = =3 oh — i T lo il L S(K‘-%> e
17. slope 3; passes through (4, —7) Pow-\_ 4 slope SU -\-1 _ _3}(_\_0_ (
= r(%=x)
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Determine if the sequence is arithmetic. If so, find the common difference. -\ -1
{ 2
18. -3, -1,3.5.. —=\ --3 19. -1, -7, -13,-19, ... o e -1 9=\
1 1 1 5 2') LT + —’i Bk e
4L L 1> . - =
_\ \20. ﬁ 6.‘8. 6.2 ‘ L —L21. 1.2.10.1:2:0.8. ]‘7 P e O . -0-1\
- o e - — = - .L _—— - = = - 2 — - -_— -
a-/’3 C 27¢ 392 6 39 T 3 _Q__g_:’rol') __\_Q'_
22. The table shows the number of women (in millions) in the U.S. work force 0-9 O- 9 -1
at various times during the past century.
| A .
[ Yeal', e | |q00 KQ?‘—) | ]()30 IV]/QQA 1970 |900 ! Women in U.S. Work Force Over Time |
| ! y
Number, y | 5 x/ 10\ 16 4 31 | 57 e .
&g
Make a scatter plot of =
 esse el pogmue
th ¢.. escribe the C‘O‘}%L—A’T‘OU | [
correlation. | 0 s -
! 0 V4900 1920 1940 1960 1980 2000 x
b. Find an equation of the (&4 2,() & m= =¥ =g | Year ]
line of best fit. (A4S0, \(o las0~1420 30
= 4 5—6: —.*,(x—mzc)
¢. Determine ihe number of women = %(z_ca;)’goq 'S 513,
S —
1 he otk e 1 Y g x
in the workforce in the year 2005. G534, 1-S04 ( 1920, ) j i
d. Estimate the 30. 1

correlation coefficient. :@
SIDCE 1T 1€ Pos|TIVE IT S N———

VWIiLL 8€ BETWEEW © AND !
TWLLL BE ClLocER TO \ BT EE
IT 1S pPELATIVELY STROVG
Tell whether a correlation is likely in the situation. Explain your reasoning.

23. the amount of gas in a car's tank and the number of miles driven ¥YES. ™E voee w (LES Yoo
DRIVE, THE (E£sS €AS W
24. the height of a person and the length of the person's hair \/Ou?. TAVC .
VO . A PERSOR S treledT Hag
LOTHIOVEG TO DO WiTH  How
LOLE THER HAle \S.
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